Answer Key for SWI Exam held on 30.1.2025

Question Answer Question Answier
1 a 56 £
2 b 57 £
3 c 58 d
4 a 59 d
5 c 60 £
& C 61 &
7 c 62 d
] b 63 c
9 [Option nat avallable (deleted)] ] B4 a
10 C B5 d
11 IS - BE [
12 I &7 a
13 € 68 b
i4 (4 69 C
15 C 0 a
16 a3 7l a
17 a 72 €
18 £ 73 a
19 d 74 d
20 c 75 ]
21 [ 76 d
22 c 7 c
23 a T8 [
24 £ ] d
25 c =20 €
26 c Bl ]
27 3 B2 b
28 C B3 b
29 a B4 c
30 c 85 € [English version will follow] |
31 d BE d
32 d a7 [
33 c . 88 €
34 a 83 a
L d 90 [
35 £ 91 d
a7 d r] a
38 a 93 c
a9 b a4 d
A0 c a5 4
41 ¢ [English vorsion will follow) | 95 c
42 4 a7 ]
43 a Qg 3
44 3 99 €
45 c 100 £
46 a 101 d
a7 a 102 d
a8 d 103 d
49 c 104 <
50 b 105 d
51 c 106 d
52 c 107 b
53 b 108 <
5,‘ ' IDB a
55 C 110 £




